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Please check that this question paper contains 2 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 5 questions.
Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer book during this period.

TS qAT SUTS
@)

DYEING AND PRINTING
(Theory)
Fraffer @ -2 92 ] [ frmam s 2 30
Time allowed : 2 hours] [Maximum marks : 30
fdwr:
SAYEF T F a5 TH 7l & I NN |
Instruction :

168/1

Attempt all questions after reading them carefully.
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Name any two dye classes suitable for dyeing of wool.
How does a carrier contribute to dyeing of synthetic fabrics ?
Describe application of reactive dyes on silk.
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Enumerate two methods of non-conventional printing.
Write a note on block printing.
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Explain the principle of Mordant style of printing.

Give three advantages of using screen for printing of fabrics.
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Classify thickening agents with examples.

Give the function and one example for any three of the following :

(i) Resist Agent

(i) Hygroscopic Agent

(iii) Exhaustion Agent

(iv) Buffer
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(i) Ul (Ageing)

(i) T (Curing)
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* Write a brief note on the following :

(i) Ageing
(i) Curing
What is the advantage of washing off after colour fixation ?
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